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Question No. 1 is compulsory.
Attempt any Four questions from the rest.

1A. M Co. Ltd. is studying the possible acquisition of N Co. Ltd., by way of merger. The 8
following data are available in respect of the companies:
Particulars M Co. Ltd. N Co. Ltd.
Earnings after tax (%) 80,00,000 24,00,000
No. of equity shares 16,00,000 4,00,000
Market value per share () 200 160

(i) If the merger goes through by exchange of equity and the exchange ratio is
based on the current market price, what is the new earning per share for M Co.
Ltd.?

(ii) N Co. Ltd. wants to be sure that the earnings available to its shareholders will
not be diminished by the merger. What should be the exchange ratio in that
case?

B. The following data is related to 8.5% Fully Convertible (into Equity shares) 8
Debentures issued by JAC Ltd. atZ 1000.

Market Price of Debenture < 900
Conversion Ratio 30
StraightValue of Debenture < 700
Market Price of Equity share on the date of Conversion I 25
Expected Dividend Per Share 1

You are required to calculate:

(a) Conversion Value of Debenture

(b) Market Conversion Price

(c) Conversion Premium per share

(d) Ratio of Conversion Premium

(e) Premium over Straight Value of Debenture
(f) Favourable income differential per share
(g) Premium pay back period

C. Explain uses of swaption. 4
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2A. XYZ Ltd. a US firm will need £ 3,00,000 in 180 days. In this connection, the
following information is available:
Spotrate 1 £=$2.00
180 days forward rate of £ as of today = $1.96
Interest rates are as follows:

U.K. US
180 days deposit rate 4.5% 5%
180 days borrowing rate 5% 5.5%

A call option on £ that expires in 180 days has an exercise price of $ 1.97 and a
premium of $ 0.04.

XYZ Ltd. has forecasted the spot rates 180 days hence as below:

Future rate Probability
$1.91 25%
$1.95 60%
$2.05 15%

Which of the following strategies would be most preferable to XYZ Ltd.?
(a) A forward contract;

(b) A money market hedge;

(c) Anoption contract;

(d) No hedging.

Show calculations in each case

B. Delta Ltd’s current financial year’sincome statementreports its net income
as< 15,00,000. Delta’s marginal tax rate is 40% and its interest expense for the
year was X 15,00,000. The company has ¥ 1,00,00,000 of invested capital, of
which 60% is debt. In addition, Delta Ltd. tries to maintain a Weighted Average
Cost of Capital (WACC) of 12.6%.

(i) Compute the operating income or EBIT earned by Delta Ltd. in the current year.

(ii) What is Delta Ltd.’s Economic Value Added (EVA) for the current year?

(iii) Delta Ltd. has 2,50,000 equity shares outstanding. According to the EVA you
computed in (ii), how much can Delta pay in dividend per share before the
value of the company would start to decrease? If Delta does not pay any
dividends, what would you expect to happen to the value of the company?

C. M Ltd. has to make a payment on 30th January, 2010 of ¥ 80 lakhs. It has surplus
cash today, i.e. 31st October, 2009; and has decided to invest sufficient cash in a
bank's Certificate of Deposit scheme offering an yield of 8% p.a. on simple interest
basis. What is the amount to be invested now?

D. What makes an organisation sustainable?
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Mr. Nirmal Kumar has categorized all the available stock in the market into the
following types:

(i) Small cap growth stocks

(ii) Small cap value stocks

(iii) Large cap growth stocks

(iv) Large cap value stocks

Mr. Nirmal Kumar also estimated the weights of the above categories of stocks in
the market index. Further, the sensitivity of returns on these categories of stocks
to the three important factor are estimated to be:

Category Weight in the Factor I Factor II Factor III
of Stocks Market Index (Beta) (Book Price) | (Inflation)
Small cap growth 25% 0.80 1.39 1.35
Small cap value 10% 0.90 0.75 1.25
Large cap growth 50% 1.165 2.75 8.65
Large cap value 15% 0.85 2.05 6.75
Risk Premium 6.85% -3.5% 0.65%
The rate of return on treasury bonds is 4.5%
Required:
(a) Using Arbitrage Pricing Theory, determine the expected return on the market
index.

(b) Using Capital Asset Pricing Model (CAPM), determine the expected return on the
market index.

Mr. Nirmal Kumar wants to construct a portfolio constituting only the ‘small cap

value’ and ‘large cap growth’ stocks. If the target beta for the desired portfolio is 1,

determine the composition of his portfolio.

On January 28, 2010 an importer customer requested a bank to remit Singapore
Dollar (SGD) 25,00,000 under an irrevocable LC. However, due to bank strikes, the
bank could effect the remittance only on February 4, 2010. The interbank market
rates were as follows:

January, 28 February 4
Bombay US$1 =3 45.85/45.90 45.91/45.97
London Pound 1 =US$ 1.7840/1.7850 1.7765/1.7775
Pound 1 =SGD 3.1575/3.1590 3.1380/3.1390

The bank wishes to retain an exchange margin of 0.125%. How much does the
customer stand to gain or lose due to the delay? (Calculate rate in multiples of .0001)

Explain angel investors.

On 1-4-2012 ABC Mutual Fund issued 20 lakh units at ¥ 10 per unit. Relevant
initial expenses involved were I 12 lakhs. It invested the fund so raised in
capital market instruments to build a portfolio of ¥ 185 lakhs. During the month
of April 2012 it disposed off some of the instruments costing ¥ 60 lakhs for ¥ 63
lakhs and used the proceeds in purchasing securities for ¥ 56 lakhs. Fund
management expenses for the month of April 2012 were 8 lakhs of which 10%
was in arrears. In April 2012 the fund earned dividends amounting to ¥ 2 lakhs
and it distributed 80% of the realized earnings. On 30-4-2012 the market value of
the portfolio wasI 198 lakhs.
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Mr. Akash, an investor, subscribed to 100 units on 1-4-2012 and disposed off the
same at closing NAV on 30-4-2012. What was his annual rate of earning?

B A company has a book value per share of ¥ 137.80. Its return on equity is 15% and it
follows a policy of retaining 60% of its earnings. If the Opportunity Cost of Capital is
18%, what is the price of the share today? [adopt the perpetual growth model to
arrive at your solution].

C TMC Holding Ltd. has a portfolio of shares of diversified companies valued at
% 400 crore enters into a swap arrangement with None Bank on the terms that it will
get 1.15% quarterly on notional principal of ¥ 80 crore in exchange of return on
portfolio which is exactly tracking the Sensex which is presently 21600.

You are required to determine the net payment to be received/ paid at the end of each
quarter if Sensex turns out to be 21,860, 21,780, 22,080 and 21,960.

D Explain different kind of financial Risk.

5A Details about portfolio of shares of an investor is as below:
Shares | No. of Shares (Lakh) Price per share Beta
A Ltd. 3.00 < 500 1.40
B Ltd. 4.00 g 750 1.20
C Ltd. 2.00 g 250 1.60

The investor thinks that the risk of portfolio is very high and wants to reduce the

portfolio beta to 0.91. He is considering two below mentioned alternative strategies:

(i) Dispose off a part of his existing portfolio to acquire risk free securities, or

(i) Take appropriate position on Nifty Futures which are currently traded atI 8125
and each Nifty points is worth ¥ 200.

You are required to determine:

(1) portfolio beta,

(2) the value of risk free securities to be acquired,

(3) the number of shares of each company to be disposed off,
(4) the number of Nifty contracts to be bought/sold; and

(5) the value of portfolio beta for 2% rise in Nifty.
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B. Mr. Abhishek is interested in investing ¥ 2,00,000 for which he is considering
following three alternatives:
(i) Invest 2,00,000 in Mutual Fund X (MFX)
(i) Invest 2,00,000 in Mutual Fund Y (MFX)
(iii) Invest ¥ 1,20,000 in Mutual Fund X (MFX) and ¥ 80,000 in Mutual Fund Y (MFY)

Average annual return earned by MFX and MFY is 15% and 14% respectively. Risk free
rate of return is 10% and market rate of return is 12%.

Covariance of returns of MFX, MFY and market portfolio Mix are as follow:

MFX MFY Mix
MFX 4.800 4.300 3.370
MFY 4.300 4.250 2.800
Mix 3.370 2.800 3.100

You are required to calculate

(i) variance of return from MFX, MFY and market return,

(ii) portfolio return, beta, portfolio variance and portfolio standard deviation,
(iii) expected return, systematic risk and unsystematic risk; and

(iv) Sharpe ratio, Treynor ratio and Alpha of MFX, MFY and Portfolio Mix

C Explain different type of seuritisation instruments.

6A The following information is provided relating to the acquiring company E Ltd., and
the target company H Ltd:

Particulars ELtd. ) HLtd. X)
Number of shares (Face valueX 10 each) 20 Lakhs 15 Lakhs
Market Capitalization 1000 Lakhs 1500 Lakhs
P/ERatio (times) 10.00 5.00
Reserves and surplusin< 600.00 Lakhs | 330.00 Lakhs
Promoter's Holding (No. of shares) 9.50 Lakhs 10.00 Lakhs

The Board of Directors of both the companies have decided to give a fair deal to the

shareholders. Accordingly, the weights are decided as 40%, 25% and 35%

respectively for earnings, book value and market price of share of each company for

swap ratio.

Calculate the following:

(i) Market price per share, earnings per share and Book Value per share;

(ii) Swap ratio;

(iii) Promoter's holding percentage after acquisition;

(iv) EPS of E Ltd. after acquisitions of H Ltd;

(v) Expected market price per share and market capitalization of E Ltd.; after
acquisition, assuming P/E ratio of E Ltd. remains unchanged; and

(vi) Free float market capitalization of the merged firm.
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B M/s. Parker & Co. is contemplating to borrow an amount of ¥ 60 crores for a
period of 3 months in the coming 6 month's time from now. The current rate of
interest is 9% p.a., but it may go up in 6 month’s time. The company wants to
hedge itself against the likely increase in interest rate.

The Company's Bankers quoted an FRA (Forward Rate Agreement) at 9.30% p.a.
What will be final settlement amount, if the actual rate of interest after 6 months
happens to be (i) 9.60% p.a. and (ii) 8.80% p.a.?

C M/s Tiger Ltd. wants to acquire M/s. Leopard Ltd. The balance sheet of Leopard
Ltd. as on 31St March, 2012 is as follows:

Liabilities < Assets <
Equity Capital (70,000 shares) Cash 50,000
Retained earnings 3,00,000 | Debtors 70,000
12% Debentures 3,00,000 | Inventories 2,00,000
Creditors and other liabilities 3,20,000 | Plants & Eqgpt. 13,00,000
16,20,000 16,20,000

Additional Information:

(i) Shareholders of Leopard Ltd. will get one share in Tiger Ltd. for every two
shares. External liabilities are expected to be settled at ¥ 5,00,000. Shares of
Tiger Ltd. would be issued at its current price of ¥ 15 per share.
Debentureholders will get 13% convertible debentures in the purchasing
company for the same amount. Debtors and inventories are expected to
realize X 2,00,000.

(ii) Tiger Ltd. has decided to operate the business of Leopard Ltd. as a separate
division. The division is likely to give cash flows (after tax) to
the extent of3 5,00,000 per year for 6 years. Tiger Ltd. has planned that,
after 6 years, this division would be demerged and disposed of for X
2,00,000.

(iii) The company’s cost of capital is 16%.

Make a report to the Board of the company advising them about the financial

feasibility of this acquisition.

Net present values for 16% forX 1 are as follows:

Years 1 2 3 4 5 6

PV .862 743 .641 .552 476 410

D “Technical analysis has several supporters as well as several critics”. Explain.

OR

Explain in the main objective of an effective system of international cash
management
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